AF-4006

B.Com. (Part-1)
Term End Examination, 2017-18

Group - B
Paper - 1

Business Mathematics

Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. All questions carry equal

marks. Give calculation wherever necessary.
Log table may be provided on demand.

THTE / Unit-I
1. (o) Tgd@ ®\ & o7 e/@dheM F B
g2
What are partial derivatives of second
order ?
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(2)

(b) IO WRUT I WG 9 HH J@
Elflﬁl'q:

(3.678)"
(42.77)%

Find out the value with the help of log
table :

(3.678)"

(42.77)%

374l / OR

(a) Sta= wE M & f9urR = 99smEu|

Explain the idea of maxima and minima.

(b) IO WRUT I WA 9 WA Jd
Elflﬁl'q:
81.73x24.68
3155

Find the value with the help of log table :

81.73x24.68
3155
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(3)
318 / Unit-11

2. T HehN WUER H Yifdhsme i 10 <siH
J&ich, THIAYE @i 8 TS s AR Tfor
H 5 ToH Tk § | U w1 fahd oI
U ¥ 8.30, T 3.45 3N 7 4.50 1 WEHW
qUeR ot At &k foska & W foRd
qed e BN ? 3TYe Usid ¥ 8 whifsq |

A Co-operative society has 10 dozen books
of Physics, 8 dozen books of Chemistry and
5 dozen books of Mathematics. Selling price
of each book is ¥ 8.30, ¥3.45 and ¥ 4.50
respectively. How much amount will be
received from selling all the books of the co-
operative society ? Solve the problem by the
method of matrix.

37947 / OR
URE & 9 gR AR &l B HISIT

13 16 19
14 17 20
15 18 21

Solve the determinant by Sarrus’s rule :

13 16 19
14 17 20
15 18 21
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(4)
THhTS / Unit-I1T

3. W YHT | 87 THh W /@Y WA
foRaetl &1 9 Wil Y@ gshEd
qEEsT w1 arftetor ft gXga it
What is Linear Programming ? Explain its
importance / merits and characteristics. Give

classification also of the linear programming
problems.

37g4qr / OR

(a) T GHEI w1 wfgewr forwen fadaram
H T Aafe ugelt g@M @1 fRuan ¥ 200
3R Ul gHM w1 fhEm 100 7,
et ghM @ fREn S sifs
The monthly rent of three shops is in a
continued proportion. If the rent of the
first shop is ¥ 200 and that of the second

shop is ¥ 100, then find out the rent of
thind one.

(b) TR 1 HI 3IFh ¥R & H A
ATHAMIT B 1 Th TR 9w o
% 1,08,000 € TZH I The! H B T
T 1 Afg 37 THSI T YR 1:2:3 & U
H g, al 39 T2 & HRU B R I
HIFSTT |
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(3)

Price of diamond is in proportion to the
square of its weight. A diamond costing
¥ 1,08,000 breaks into three pieces. If the
weight of the three pieces are in the ratio
of 1:2:3, then find the loss due to this
breakage.

RS / Unit-IV

4. (a) T2,000 FT 5% Ak hglg AT oh
R 9 faged 72,205 @1 8, O 99
M RIS
If the sum of ¥ 2,000 becomes ¥ 2,205

@ 5% per annum compound interest,
then find the time.

(b) V& Tehdfg TS 1 SRUE Flaad foma
S ®, @ foem gfava wfgad = X @
398 § ¥1,500 1 fHgeq 71,737 &
SICEIW
At what rate of compound interest a sum

of ¥ 1,500 will amount to ¥ 1,737 in 3
years, if interest is calculated every year ?

37g4qr / OR

(a) ThIA €9 (IAHA Hed) i ARG
ST o ¥ ? SCRw wigd SHEmEy|

What is the practical utility of present
worth ? Explain with example.
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(6)

(b) ¥9,000 IYR feram T et A=
73,000 i o AN fhedi § =1 &
g H I B AR WS W R 6%
g 81, 9 J&e a4 % 3id H e
® S ATel g fha-fohaer gRh 2

¥ 9,000 is borrowed which is to be repaid

m three annual instalments of ¥ 3,000
along with the interest. If the rate of
interest is 6% per annum, then what will
be the sum of money to be paid after
each year ?

THR / Unit-V
5. (a) Trefafea aroht @ ofiga 3@ =ifeg

L 0-10 |10-20 | 20-30]| 30-40 | 40-50

smgfa| 10 12 20 18 10

Calculate average from the following
table :

Class 0-10 | 10-20|20-30 | 3040 [ 40-50
Frequency | 10 12 20 18 10

(b) X W H 30% gfg & RO AT ol
& 30% A BT Wt § 1 T W yfave
gfg o1 wH Fael |
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(7)

Due to a rise of 30% in railway fare the
number of passengers goes down by 30%.
Find the percentage increase or decrease
in income.

37g4qr / OR

(a) TREl &Ik 1 40 il o1 fospa god
IHh 32 Uik Fa Hfsd goI ok
TER ¢ | AURF B2 H W |

The sale price of 40 copies of a book is
equal to the total printed price of its 32
copies. Find the rate of trade discount.

(b) UH TA@ A T AFdA o o= T 8,000

N 2
*T FIel HUET 997 I o E% Eq iy

q oAU KA aqd TR gera @
Fol fohar o foen?

A broker settled a transaction between
two persons for ¥ 8,000 and charged his

2
commission at g% from each. Find how

much did the broker get ?
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